PROFESSIONAL EXAMINATION BOARD

Combined Group-4 Recruitment Test : 2016

18th December 2016, 09:00 AM
Topic:- General Knowledge

1)

Question ID :- (Question ID = 51704 )

Question Description :- HP12 GENERAL KNOWLEDGE_ SET5Q11
Question Stimulus :-

The 2016 Summit of the North Atlantic Treaty Organization (NATO) was held recently in -/
gTd g1 # ST Uedife® AfY Wi IWaH (1)) 2016 § Hal maifera foar mar ut 2

e (Option ID =146678)
Norway / ard
e (Option ID =146679)
Poland / 9IdS
e (Option ID = 146680 )
Sweden / T8
e (Option ID = 146681 )
Spain | |
Option ID :-0Correct Answer :-(Option ID = 146679 ) Poland | qrds
2)
Question ID :- (Question ID =51700)
Question Description :- HP12_ GENERAL KNOWLEDGE_SETS5Q7
Question Stimulus :-

How many Biosphere Reserves are there in Madhya Pradesh? / H&q =T I | oA foram
SaHsd IRFEE &7 §2
e (Option ID = 146662 )
2
e (Option ID = 146663 )
3
e (Option ID = 146664 )
4

« (Option ID = 146665 )



5
Option ID :-0Correct Answer :-(Option ID = 146663 ) 3
3)
Question ID :- (Question ID =51710)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET5Q17

Question Stimulus :-

Which state inaugurated the country’s first lift irrigation project? / Fada g
@t gduyH forve Riars uRaier = &1 Igured fHar?

e (Option ID = 146702 )
West Bengal / uf¥e §re
e (Option ID =146703)
Andhra Pradesh /3fi${ W&=T
e (Option ID = 146704 )
Maharashtra / HeIRTY
e (Option ID =146705)
Telengana | ST
Option ID :-0Correct Answer :~(Option ID = 146703 ) Andhra Pradesh /314 U
4)
Question ID :- (Question ID = 51706 )
Question Description :- HP12. GENERAL KNOWLEDGE_SETS5Q13
Question Stimulus :-

The military exercise “Hand-in-Hand” is between India and __. | A= T “%'3' < %'3'”
YR 3 Fdggare |

(Option ID = 146686 )

Russia / 9

(Option ID = 146687 )

Afghanistan / SBUTARAE

(Option ID = 146688 )

Japan / SITUTH

(Option ID = 146689 )



China [IIF

Option ID :-0Correct Answer :-(Option ID = 146689 ) China Gk

S)

Question ID :- (Question ID =51703)

Question Description :- HP12_ GENERAL KNOWLEDGE_SET5Q10
Question Stimulus :-

Which of the following Indian Classical Music Gharana was formed by Ustad Allaudin Khan

of Madhya Pradesh? /| U0 USRI & I¥dIq eaSd @ A fAufafed o 3 oia yrdia
RATT T TR &7 SR T U1

e (Option ID = 146674 )
Maihar Gharana/ 'ﬁ'&R’ YRTHAT
e (Option ID =146675)
Gwalior Gharana / TTfeRIR €RTHT
e (Option ID =146676)
Senia Gharana / ST TRTAT
e (Option ID = 146677 )
None of these / ET-I'I?[ I Tﬁ's: qﬁ’f
Option ID :-0Correct Answer :-(Option ID = 146674 ) Maihar Gharana /ﬁET ORI
6)
Question ID :- (Question ID = 51702 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET5Q9
Question Stimulus :-

The Godharins in the tribes of Madhya Pradesh are women who are -/ e Yo &
nfearRRyal o f= ufgarai ot M= wg1 wmar 82

e (Option ID = 146670 )
Doctors / fRifrea®

e (Option ID = 146671)
Sweepers / H‘WF.{ areft

e (Option ID = 146672 )

Exorcists / &I.'EIT

« (Option ID = 146673 )



Tattoo Artists / T P ATHPIR
Option ID :-0Correct Answer :-(Option ID = 146673 ) Tattoo Artists / YT PATPIR
7)
Question ID :- (Question ID = 51696 )
Question Description :- HP12_GENERAL KNOWLEDGE_SET5Q3
Question Stimulus :-

Ramnaresh Yadav, the former Governor of Madhya Pradesh, who recently passed away was
also the former Chief Minister of - / A% YR & Yd IAUTd, YA Ted, foro1 g1a 81 o
e 8 T, foea s & gd g Wt oft 32

e (Option ID = 146646 )
Chhattisgarh / ST
e (Option ID = 146647 )
Rajasthan / TSR
e (Option ID = 146648 )
Maharashtra / HeIRTY
e (Option ID = 146649 )
Uttar Pradesh / 3% WeXT
Option ID :-0Correct Answer :-(Option ID = 146649 ) Uttar Pradesh / 3dXY U
8)
Question ID :- (Question ID = 51705 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET5Q12
Question Stimulus :-
When is the National Press Day celebrated? I?Tfl’q g IFCRETEEIRIRCIGI %?
e (Option ID = 146682 )
November 16 /[Ad¥R 16
e (Option ID = 146683 )
November 17 / AR 17
e (Option ID = 146684 )
November 18 / Ad¥IXY 18

« (Option ID = 146685 )



November 19 / 7dHIX 19
Option ID :-0Correct Answer :-(Option ID = 146682 ) November 16 /14X 16
9)
Question ID :- (Question ID = 51695)
Question Description :- HP12_GENERAL KNOWLEDGE_SET5Q2
Question Stimulus :-

On which of the following river has the Bheemgarh Dam been built? / mﬁﬂﬁﬁ'ﬂfﬂ
fFafafea 4 9 foa 78 W fear mn g2

e (Option ID = 146642 )
Betwa / Sddl
e (Option ID = 146643 )
Wainganga / QT
e (Option ID = 146644 )
Chambal / 9
e (Option ID = 146645 )
Tapti / aTGl
Option ID :-0Correct Answer :-(Option ID = 146643 ) Wainganga / CEUDI
10)
Question ID :- (Question ID = 51694 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET5Q1
Question Stimulus :-

‘Ahirai’ a major traditional dance of which of the following tribe? / ‘GT%TI'S" fafafead s
e SHeTIfa 3T 481 WWRFE 9d 382

e (Option ID =146638)
Bharia / HIR4T

e (Option ID =146639)
Baiga / am

« (Option ID = 146640 )
Bhil / W&

« (Option ID = 146641 )



Gond / S

Option ID :-0Correct Answer :-(Option ID = 146638 ) Bharia / yfear
11)

Question ID :- (Question ID =51709)

Question Description :- HP12_ GENERAL KNOWLEDGE_SET5Q16

Question Stimulus :-

Who came out with the World Investment Report 2016 that ranked India 10t in the world? /
Frafafeaa 4 9 feam fay fa=r R 2016 SR 31 o/ YR &1 103 VI W= @71 T1/IT 2

e (Option ID = 146698 )
IMF (International Monetary Fund) / 3"'5; UH TP (s’vi?l?f@'q Hal El'ﬂ'q)
e (Option ID = 146699 )

UNCTAD (United Nations Conference on Trade And Development) 13{PeTS ('\‘I'QWQTE
R 3R faerT I™a)

« (Option ID = 146700 )
Moody’s / H\@ﬂﬁl

« (Option ID = 146701 )
WEF (World Economic Forum) / &9 § TW (fay 3nfi® @)

Option ID :-0Correct Answer :-(Option ID = 146699 ) UNCTAD (United Nations Conference on
Trade And Development) /3B CTS (Yo MY ATUR 3R fawra 'amﬁq)

12)
Question ID :- (Question ID = 51698 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET5Q5

Question Stimulus :-

On which of the following river’s banks was the Chedi Kingdom situated? | Fafafead a
e 7t & ae W A} Irey s Ur?

e (Option ID = 146654 )
Shipra/ fa&rom

e (Option ID =146655)
Chambal / 9

e (Option ID = 146656 )

Betwa / dddTl



« (Option ID = 146657 )

None of these / E'-Tﬁ 3 aﬂi T-Té’f

Option ID :-0Correct Answer :-(Option ID = 146656 ) Betwa / Sqar
13)

Question ID :- (Question ID = 51701 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SETS5QS8
Question Stimulus :-

According to Census 2011 what is the percentage of Scheduled tribal population in Madhya
Pradesh ? / SFITIUT 2011 & AR A YR H SJfRId SIelTia ) SR ST Ufa=rd &1 8
?

e (Option ID = 146666 )
211 %
e (Option ID = 146667 )
24.5%
e (Option ID = 146668 )
26.7 %
e (Option ID = 146669 )
30.0 %
Option ID :-0Correct Answer :-(Option ID = 146666 ) 21.1 %
14)
Question ID :- (Question ID = 51708 )
Question Description :- HP12. GENERAL KNOWLEDGE_SET5Q15

Question Stimulus :-

Which country won the Asian Kabaddi Championship 2016 (Circle Style)? | fFafafead a
e 3= 7 TRE Hagl AARm 2016 (@fHa wrga) siar

e (Option ID = 146694 )
India / HIRd

e (Option ID =146695)
Pakistan / GTfosedT=T

e (Option ID = 146696 )

Bangladesh / ST



e (Option ID = 146697 )
Sri Lanka / 9 &1
Option ID :-0Correct Answer :-(Option ID = 146695 ) Pakistan | uTfpaTd
15)
Question ID :- (Question ID = 51699 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SETS5Q6

Question Stimulus :-

In which part of Madhya Pradesh was Dr. B R Ambedkar born? ST, Jt 3R SAdSHT BT o+
A Y & fra A A gam T 2

e (Option ID = 146658 )
Mhow / Hg
e (Option ID = 146659 )
Ratlam / YddTH
e (Option ID = 146660 )
Chhindwara /%EHET
e (Option ID = 146661 )
Itarsi / E?R'\‘ﬁ
Option ID :-0Correct Answer :-(Option ID = 146658 ) Mhow / Hg
16)
Question ID :- (Question ID = 51697 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET5Q4

Question Stimulus :-

In which year was the prestigious Kalidas Samman constituted by Madhya Pradesh? / &

uex &1 Ufaf¥d wiferera G frd ad I wfeq farar mare?

(Option ID = 146650 )

1980

(Option ID = 146651 )

1982

(Option ID = 146652 )

1984

(Option ID = 146653 )



1986
Option ID :-0Correct Answer :-(Option ID = 146650 ) 1980
17)
Question ID :- (Question ID = 51707 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET5Q14
Question Stimulus :-

Who out of the following instituted the Kalpana Chawla Chair at the PEC University at

Chandigarh? / FrufefRaa # & frg wre A 9die & 3.9, fayfaemea ® Souar argar 3w
P RITYAT B2

e (Option ID = 146690 )
ISRO / T&RY
« (Option ID = 146691 )
Ministry of Railways EGR:EIGD)
« (Option ID = 146692 )
Ministry of Human Resource Development / ATHd 9144 fd&™ da1@4g
e (Option ID = 146693 )
Ministry of Skill Development and Entrepreneurship | BIRre faeT 3R Sefiar darea
Option ID :-0Correct Answer :-(Option ID = 146691 ) Ministry of Railways / ¥ AT

Topic:- General English
1))

Question ID :- (Question ID = 51539)
Question Description :- HP12_GENERAL ENGLISH_SET5Q16
Question Stimulus :-
Once there was a fox. He lived in a jungle. A crane was his best friend. They visited each other's home every
now and then. One day, the fox invited the crane for dinner. He put the soup in a flat dish. The crane had a
long beak. He could not take the soup. The fox licked the dish. The crane felt insulted. Now the crane wanted
to take revenge. He invited the fox to dine with him. He served boiled rice in a jug. Its neck was narrow. The
fox could eat nothing. The crane enjoyed the food very much. The fox felt sorry for his behaviour.
What is the moral of the given story?

e (Option ID = 146018 )

Healthy cooking is the best preventive medicine.
e (Option ID =146019)

Appetite comes with eating

« (Option ID = 146020 )



Haste makes waste
e (Option ID =146021)
As you sow, so shall you reap
Option ID :-0Correct Answer :-(Option ID = 146021 ) As you sow, so shall you reap
2)
Question ID :- (Question ID = 51535)
Question Description :- HP12_ GENERAL ENGLISH_SET5Q12
Question Stimulus :-
Two sentences are given below. Choose the correct conjunction to join the given sentences.
They won the war.
It cost them millions of lives.
e (Option ID = 146002 )
although
e (Option ID = 146003 )
as if
e (Option ID = 146004 )
hence
e (Option ID =146005)
else
Option ID :-0Correct Answer :-(Option ID = 146002 ) although
3)
Question ID :- (Question ID = 51537 )
Question Description :- HP12 GENERAL ENGLISH _SET5Q14
Question Stimulus :-
Choose a word that can be replaced for the given sentence.
The life history of a person written by himself
e (Option ID =146010)
Diary
e (Option ID = 146011 )
Novel

« (Option ID = 146012 )



Biography
e (Option ID =146013)
Autobiography
Option ID :-0Correct Answer :-(Option ID = 146013 ) Autobiography
4)
Question ID :- (Question ID = 51538 )
Question Description :- HP12_GENERAL ENGLISH_SET5Q15
Question Stimulus :-
Fill in the blank with the word given in the bracket along with the correct prefix out of the given four options.
The enquiry showed that various financial transactions had been carried out in a very __ (regular) manner.
e (Option ID =146014)
ir
e (Option ID =146015)
un
e (Option ID =146016)
in
e (Option ID =146017)
dis
Option ID :-0Correct Answer :-(Option ID = 146014 ) ir
S)
Question ID :- (Question ID = 51536 )
Question Description :- HP12_ GENERAL ENGLISH_SET5Q13
Question Stimulus :-
Fill in the blank with the correct set of prepositions.
It's difficult  a small supermarket  compete  the big supermarkets.
e (Option ID = 146006 )
in, of, with
e (Option ID = 146007 )
of, to, for
e (Option ID = 146008 )

for, to, with



e (Option ID = 146009 )
in, for, to
Option ID :-0Correct Answer :-(Option ID = 146008 ) for, to, with
6)
Question ID :- (Question ID = 51526 )
Question Description :- HP12_GENERAL ENGLISH_SET5Q3
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite to the
highlighted word from the given options.

She must have done something wrong, because she's looking so guilty.
e (Option ID = 145966 )
Ugly
e (Option ID = 145967 )
Sad
e (Option ID = 145968 )
Terrible
e (Option ID = 145969 )
Innocent
Option ID :-0Correct Answer :-(Option ID = 145969 ) Innocent
7
Question ID :- (Question ID = 51531 )
Question Description :- HP12 GENERAL ENGLISH_SET5Q8
Question Stimulus :-
Out of the given options, choose the one which is the correct indirect speech of the sentence given below.
She said to me, “Lend me your book for a few days.”
e (Option ID = 145986 )
She ordered me for lending her my book for a few days.
e (Option ID = 145987 )
She commanded me for lending her my book for a few days.
e (Option ID = 145988 )

She pleaded me in order to lend her my book for a few days.



e (Option ID = 145989 )
She requested me to lend her my book for a few days.

Option ID :-0Correct Answer :-(Option ID = 145989 ) She requested me to lend her my book for a few
days.

8)
Question ID :- (Question ID = 51524 )
Question Description :- HP12 GENERAL ENGLISH_SET5Q1
Question Stimulus :-
Out of the given options which best expresses the meaning of the given proverb?
"People who live in glass houses should not throw stones."
e (Option ID = 145958 )
Poor and homeless people try to damage beautiful buildings made of glass
e (Option ID =145959)
If someone has a beautiful house, he should not look down at others
e (Option ID = 145960 )
Don't criticize other people if you're not perfect yourself
e (Option ID = 145961 )
Sophisticated people do not beat others

Option ID :-0Correct Answer :-(Option ID = 145960 ) Don't criticize other people if you're not perfect
yourself

9)

Question ID :- (Question ID = 51528)

Question Description :- HP12_GENERAL ENGLISH_SETS5QS5
Question Stimulus :-

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the
one which can be substituted for the given phrasal Verb.

The police have called off the search for the missing child until dawn tomorrow.
e (Option ID =145974)
Cancelled
e (Option ID =145975)
Started

e (Option ID =145976)



Hurried
e (Option ID =145977)

Announced
Option ID :-0Correct Answer :-(Option ID = 145974 ) Cancelled
10)
Question ID :- (Question ID = 51529 )
Question Description :- HP12_ GENERAL ENGLISH_SET5Q6
Question Stimulus :-

DIRECTIONS: Two sentences are given below with a blank in each. Fill in the blanks with a pair of suitable
words from the four options for each blank respectively:

I cannot _____this heat.
We took off our shoes and socks and walked _____ foot along the beach.
e (Option ID =145978)
bare, bare
e (Option ID =145979)
bear, bear
e (Option ID = 145980 )
bare, bear
e (Option ID = 145981 )
bear, bare
Option ID :-0Correct Answer :-(Option ID = 145981 ) bear, bare
11)
Question ID :- (Question ID = 51527 )
Question Description :- HP12_GENERAL ENGLISH_SETS5Q4
Question Stimulus :-
Out of the given four words one is spelt incorrectly. Find the word that is incorrectly spelt
e (Option ID =145970)
Dedication
e (Option ID =145971)
Ambition
e (Option ID =145972)

Excelence



e (Option ID =145973)
Pinnacle
Option ID :-0Correct Answer :-(Option ID = 145972 ) Excelence
12)
Question ID :- (Question ID = 51533 )
Question Description :- HP12_ GENERAL ENGLISH_SET5Q10
Question Stimulus :-
CANCELLED
Out of given sentence, choose the one which is grammatically correct.
e (Option ID = 145994 )
He is not only made a promise, but also kept it.
e (Option ID =145995)
You must either pay the bill at once or return the goods.
e (Option ID = 145996 )
He worked hard, yet he did not succeed
e (Option ID =145997)
He is very rich, and still he is unhappy
Option ID :-0Correct Answer :-(Option ID = 145994 ) He is not only made a promise, but also kept it.
13)
Question ID :- (Question ID = 51532 )
Question Description :- HP12 GENERAL ENGLISH_SET5Q9
Question Stimulus :-
Fill in the blank with the correct word from the options given below.
Growing children must wear _ clothes.
e (Option ID = 145990 )
left
e (Option ID = 145991 )
lost
e (Option ID =145992)

loose



e (Option ID = 145993 )
lose
Option ID :-0Correct Answer :-(Option ID = 145992 ) loose
14)
Question ID :- (Question ID = 51525)
Question Description :- HP12_GENERAL ENGLISH_SET5Q2
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word.

The woman was overcome with grief at the sight of her dead son.
e (Option ID = 145962 )
Sorrow
e (Option ID = 145963 )
Happiness
e (Option ID = 145964 )
Pride
e (Option ID = 145965)
Confidence
Option ID :-0Correct Answer :-(Option ID = 145962 ) Sorrow
15)
Question ID :- (Question ID = 51534 )
Question Description :- HP12_ GENERAL ENGLISH_SET5Q11
Question Stimulus :-
Out of the four options given below, choose the one with the correct meaning of the idiom.
“Cry over spilt milk”
e (Option ID = 145998 )
To be happy and satisfied about whatever has been done
e (Option ID = 145999 )
To shout after drinking all the milk
e (Option ID = 146000 )

To be sad because all your milk has turned sour



e (Option ID =146001)
To be unhappy about what cannot be undone.
Option ID :-0Correct Answer :-(Option ID = 146001 ) To be unhappy about what cannot be undone.
16)
Question ID :- (Question ID = 51540 )
Question Description :- HP12_GENERAL ENGLISH_SET5Q17
Question Stimulus :-

DIRECTIONS: Given below are four sentences with an incorrect order. Arrange them in a meaningful order
to form a coherent whole.

P. Green Revolution allowed developing countries
Q. when agriculture in India increased its yields due to improved agronomic technology.
R. The Green Revolution in India was a period
S. like India, to overcome poor agricultural productivity.
e (Option ID =146022)
SPRQ
e (Option ID =146023)
PQRS
e (Option ID =146024)
RQPS
e (Option ID =146025)
QPRS
Option ID :-0Correct Answer :-(Option ID = 146024 ) RQPS
17)
Question ID :- (Question ID = 51530)
Question Description :- HP12_GENERAL ENGLISH_SET5Q7
Question Stimulus :-
Out of the given options, choose the one which is the correct passive voice of the sentence given below.
The priest gave him The Bible.
e (Option ID = 145982 )
The Bible was given to him by the priest.
e (Option ID = 145983 )

The Bible has been given to him by the priest.



e (Option ID = 145984 )

The Bible had been given to him by the priest.
e (Option ID = 145985)

The Bible is given to him by the priest.

Option ID :-0Correct Answer :-(Option ID = 145982 ) The Bible was given to him by the priest.

Topic:- General Hindi
1))

Question ID :- (Question ID =51615)
Question Description :- HP12_GENERAL HINDI_SETS5Q7
Question Stimulus :-
fpRa ¥ v ygaATe-
e (Option ID = 146322)
Sha
e (Option ID =146323)
Qd
e (Option ID = 146324)
fa
e (Option ID =146325)
d
Option ID :-0Correct Answer :-(Option ID = 146323 ) gd
2)
Question ID :- (Question ID = 51614 )
Question Description :- HP12_GENERAL HINDI_SETS5Q6

Question Stimulus :-
TS BT qATgard! eg FHII-
e (Option ID =146318)
SITHH
e (Option ID =146319)
X
e (Option ID = 146320 )



Iqyc
e (Option ID = 146321)
X
Option ID :-0Correct Answer :-(Option ID = 146318 ) SITHH
3)
Question ID :- (Question ID = 51624 )
Question Description :- HP12_GENERAL HINDI_SET5Q16
Question Stimulus :-
ru & I8 9= &1 T4 Fifere-
e (Option ID =146358)
gffeafy
e (Option ID =146359)
Gy
e (Option ID = 146360 )
uffRufa
e (Option ID = 146361 )
it
Option ID :-0Correct Answer :-(Option ID = 146360 ) ufefRyfa
4)
Question ID :- (Question ID = 51612 )
Question Description :- HP12 GENERAL HINDI_SET5Q4
Question Stimulus :-
fre dferral # B o1 99 Fifore-
“ g3 FRITaR $gd URT | TR 31 98 URT Il
fafaey wita a8+ vy < T | faqa s’ vaTe @<t = 017
e (Option ID = 146310)
|
e (Option ID = 146311)

g



e (Option ID = 146312)
ARSI
e (Option ID = 146313)
e
Option ID :-0Correct Answer :-(Option ID = 146311 ) iﬁmé
S)
Question ID :- (Question ID = 51617 )
Question Description :- HP12_GENERAL HINDI_SETS5Q9

Question Stimulus :-
A Are iR Iy ¥ SR T 3t 98I 3-

(Option ID = 146330 )

1)

(Option ID = 146331 )

qReg
(Option ID = 146332)

ard

(Option ID = 146333 )
=t
Option ID :-0Correct Answer :-(Option ID = 146333 )T'ﬁ
6)
Question ID :- (Question ID =51610)
Question Description :- HP12_GENERAL HINDI_SETS5Q2
Question Stimulus :-
JATT | DI AT ST U 872

e (Option ID = 146302)

3wl

e (Option ID =146303)

3d

« (Option ID = 146304 )



ST
e (Option ID =146305)
3d
Option ID :-0Correct Answer :-(Option ID = 146305 ) 3¢
7)
Question ID :- (Question ID = 51609 )
Question Description :- HP12_GENERAL HINDI_SETS5Q1
Question Stimulus :-
e & e 2-
“Sg-aeHt It 3fea gg”
e (Option ID = 146298 )
SUHT SAPR
e (Option ID = 146299 )
YD AAPR
e (Option ID = 146300 )
THS AAPR
e (Option ID = 146301)
3IUTY AP R
Option ID :-0Correct Answer :~(Option ID = 146298 ) SUHT DR
8)
Question ID :- (Question ID = 51625)
Question Description :- HP12_GENERAL HINDI_SET5Q17
Question Stimulus :-
IR & G T BT TIT DIfoTL-
e (Option ID = 146362 )
o B R 919 ST =9 qur gl |
¢ (Option ID = 146363 )
Yt UTHT F TRPR BT gl § S TPR YRA |

e (Option ID = 146364 )



&8 @t sifardar 3k smazuddar &1 WieR fear s afeu |
e (Option ID =146365)
PIS Ffe et
Option ID :-0Correct Answer :-(Option ID = 146362 ) foTT WK 1 WU &1 94T gl A
9)
Question ID :- (Question ID =51618)
Question Description :- HP12_GENERAL HINDI_SET5Q10

Question Stimulus :-

«ggl el Ieil 3R JATeT BT T I &:

(Option ID = 146334 )

e areg

(Option ID = 146335 )
YT a1l
(Option ID = 146336 )

A dI

(Option ID = 146337 )
SWRIE | ¥ HIs g1
Option ID :-0Correct Answer :-(Option ID = 146335) ﬂ'ﬁﬂﬁ qi
10)
Question ID :- (Question ID = 51619 )
Question Description :- HP12 GENERAL HINDI_SET5Q11
Question Stimulus :-
T T P U BT IARY VM :
e (Option ID =146338)
drdoq
e (Option ID = 146339 )
&g
e (Option ID = 146340 )

LA



e (Option ID = 146341)
AR
Option ID :-0Correct Answer :-(Option ID = 146338 ) dl¢iod
11)
Question ID :- (Question ID = 51623 )
Question Description :- HP12_GENERAL HINDI_SET5Q15

Question Stimulus :-

TSl & AT # FORIY $3h 981 $© <@ # 311 38T 8 I T €1 99 $© 8 | 9P SR AT 919, WS-
T8 ¥ 3ATS I O1d &, TUTE aP BId1 & | SISl P ScaR W AS IR & | IHgid @ fp amuan
HTS THRT FT HAT ST, T A A g I5d TO WG APA 6 | GaqE@ I A |

« (Option ID = 146354)
WS Gerfy wefa urg
« (Option ID = 146355)
T A8 99 98 99 918 99 9™
« (Option ID = 146356)
19 YaT T VT, TS YT S04
« (Option ID = 146357)
Y oTel TRT Belehd oI
Option ID :-0Correct Answer :-(Option ID = 146356 ) 91U HT - ’J}QT, Y YT wagr
12)
Question ID :- (Question ID = 51622 )
Question Description :- HP12_GENERAL HINDI_SET5Q14
Question Stimulus :-
ATHTATY | DI AT AN 52
« (Option ID = 146350 )
adqgey
« (Option ID = 146351 )
HHYRY
« (Option ID = 146352)

£



e (Option ID = 146353 )
Option ID :-0Correct Answer :-(Option ID = 146352 ) 5
13)
Question ID :- (Question ID = 51611)
Question Description :- HP12_GENERAL HINDI_SET5Q3

Question Stimulus :-

form frfera 6 arerdi & wuw 9 sifow e 2, A o 3fua v A srafua Hifsm-
01 99 U Afad fret &rd & fawg o
g- grgar 3fere qHear g |
3- 3= TR B Y& Ut BT
- Sl PRI 3 ATHTTT B HISH YaT S ™HE Uddid g 3,
g- Y 96 IR qUT TG WS § |
06- % T fayTe &1 uROma 3 |
« (Option ID = 146306 )
g¥dd
« (Option ID = 146307 )
RYdd
« (Option ID = 146308 )
Rgdd
e (Option ID = 146309 )
qagqr
Option ID :-0Correct Answer :-(Option ID = 146308 )X I d
14)
Question ID :- (Question ID =51616)
Question Description :- HP12_GENERAL HINDI_SETS5QS8

Question Stimulus :-
fFrafafaa o o srquf geray & gut Sifce-
“H AT g1 da firear 8 i 9-a9 ga- Adt.....n..nnn, ”



(Option ID = 146326 )

gl oIt 8

(Option ID = 146327 )

1 911 8

(Option ID = 146328 )

fed ol 8

(Option 1D = 146329 )
9 STdl 8

Option ID :-0Correct Answer :-(Option ID = 146329 ) 9¢1 STt %

15)

Question ID :- (Question ID = 51620 )
Question Description :- HP12_GENERAL HINDI_SETS5Q12
Question Stimulus :-

R[S IR BT TG BIfOIT:

(Option ID = 146342 )

il g yH T ¢ 98 UBd il o
(Option ID = 146343 )

S 374 TS 39 BT A

(Option ID = 146344 )

A AT G ST

(Option ID = 146345 )

TP 3R TP TRE 514 ¢

Option ID :-0Correct Answer :-(Option ID = 146343 ) a1 I1d T 3T Bl A

16)

Question ID :- (Question ID = 51621)

Question Description :- HP12_GENERAL HINDI_SET5Q13
Question Stimulus :-

R & Wiy -

« (Option ID = 146346 )



TUT TR
e (Option ID =146347)
3Tg W
e (Option ID =146348)
™R
e (Option ID =146349)
YUl ¥
Option ID :-0Correct Answer :-(Option ID = 146347 ) GFCIT% R
17)
Question ID :- (Question ID =51613)
Question Description :- HP12_GENERAL HINDI_SETS5QS5

Question Stimulus :-

THH e BT TG DIoE-
(Option ID = 146314)

STH

(Option ID = 146315 )

forgT

(Option ID = 146316 )

QY
(Option ID = 146317 )

STt

Option ID :-0Correct Answer :-(Option ID = 146315) ﬁ'I'ET

Topic:- General Maths
1)

Question ID :- (Question ID =51790)
Question Description :- HP12_GENERAL MATHS_SET5Q12
Question Stimulus :-

CANCELLED

3
Moanoj started 15 minutes late and by travelling at a speed which is 2th of his usual speed

reached his office 5 Minutes early, what is the usual time of his journey? | 9T A 10 e



3

3R A U I Y SR ot wrr vy Y 2 iy A arn a1 g v wrafay 5 e s
g 7T, 3D AT BT ATH 0T FT 82

« (Option ID = 147022 )
60 minute/60 A
« (Option ID = 147023 )
30 minute/30 A e
e (Option ID = 147024 )
40 minute/40 firFe
e (Option ID = 147025)
75 minute/75 fiTe
Option ID :-0Correct Answer :-(Option ID = 147022 ) 60 minute/60 fire
2)
Question ID :- (Question ID = 51788 )
Question Description :- HP12_GENERAL MATHS_SET5Q10
Question Stimulus :-
CANCELLED
8 men and 10 women can do a piece of work in 5 days. 12 men and 12 women can do the

1
same work in 32 days. In how men days 2 men and 7 women will complete the same work,

working together?/alg?ﬂraﬁ'\r1ou1%aﬂﬁamfﬁ5ﬁ=ﬁﬁawm%' | 12 =Y 3fR 12

AfgaTe IW rf Y 32 = A BT Tpa & | 2 T 3R 7 ARRed v 1y It &l Bt fpa
& o got ¥
« (Option ID = 147014)
15
« (Option ID = 147015 )
14
« (Option ID = 147016 )
21
« (Option ID = 147017 )
18

Option ID :-0Correct Answer :-(Option ID = 147015) 14

3)



Question ID :- (Question ID =51793)
Question Description :- HP12_GENERAL MATHS_SET5Q15
Question Stimulus :-

In how many different ways can the letters of the word ‘HUSBAND’ be arranged so that the
vowels never come together? / Aeg ‘HUSBAND’ & 3MeRl ot fhaq dare T afeyd foear &
TPl § dife WX $W ue a1y 7 3mi?

(Option ID = 147034 )
720
e (Option ID =147035)
1440
e (Option ID =147036)
5040
e (Option ID =147037)
3600
Option ID :-0Correct Answer :-(Option ID = 147037 ) 3600
4)
Question ID :- (Question ID = 51786 )
Question Description :- HP12_ GENERAL MATHS_SETS5Q8
Question Stimulus :-

The time of oscillation of a pendulum varies as the square root of its length. If a pendulum
of length 40 cm oscillates once in a second, then the length of the pendulum oscillating

once in 2.5 seconds is:/ Tdh a'gaq WWWWW@% EHiHEI a?alﬂﬁﬂlﬂmél % I
gfe dga fora®! TS 40 9. 8, Th AHUS § U aiad &edl §, dl 2.5 HUS § TP ara-d
B aTd UgeH B TIETg T HI?

e (Option ID = 147006 )
175 cm/175 GHI.

e (Option ID = 147007 )
200 cm/200 I,

« (Option ID = 147008 )
225 cm/225 Y.

« (Option ID = 147009 )

250 cm/250 JH.



Option ID :-0Correct Answer :-(Option ID = 147009 ) 250 cm/250 T,
5)

Question ID :- (Question ID = 51781 )

Question Description :- HP12_GENERAL MATHS_SET5Q3

Question Stimulus :-

What will come in place of Question mark (?) in the following number series? | fFafataa
TST YOITel! § UHaras e (?) & TITH U= T SHTAT?

0, 5, 18, 43, 84, 145, (?)

(Option ID = 146986 )

480

(Option ID = 146987 )
230

(Option ID = 146988 )

210

(Option ID = 146989 )

420

Option ID :-0Correct Answer :-(Option ID = 146987 ) 230

6)

Question ID :- (Question ID =51779)

Question Description :- HP12_GENERAL MATHS_SET5Q1
Question Stimulus :-

=1+ I1+1?=1+i
165 ¥ 2 Al x R E:

27

|
|1 + |
N * then x equals:/ gf¢

(Option ID = 146978 )

3 \E

(Option ID = 146979 )

1

(Option ID = 146980 )

27

(Option ID = 146981 )
13



Option ID :-0Correct Answer :-(Option ID = 146979 ) 1

7

Question ID :- (Question ID =51787)

Question Description :- HP12_GENERAL MATHS_SET5Q9
Question Stimulus :-

729 litres of a mixture contains milk and water in the ratio 7:2. How much water is to be added to get an new
mixture containing milk & water in the ratio 7: 3? / 729 ?ﬂa%wﬁrwﬁgﬂ AR FTA BT SIIUTd 7: 2 % IE‘\‘I’ﬁ
fa ora St firaman wIrd anfes =14 fysor & gor R & &1 SiuTd 7: 3 B Tg?

e (Option ID = 147010 )
90 litres/90 ¥tex
e (Option ID = 147011)
80 litres/80 ¥ftex
e (Option ID = 147012)
83 litres/83 diex
e (Option ID = 147013)
81 litres/81 dftex
Option ID :-0Correct Answer :-(Option ID = 147013 ) 81 litres/81 ex
8)
Question ID :- (Question ID = 51782 )
Question Description :- HP12 GENERAL MATHS SET5Q4
Question Stimulus :-
Find out the wrong term in the given series:/dl §§ Juft # TTed UG J1d B
3, 4,13, 38, 87, 166, 289
e (Option ID = 146990 )
38
e (Option ID = 146991 )
13
e (Option ID = 146992 )
87
e (Option ID =146993)
166



Option ID :-0Correct Answer :-(Option ID = 146993 ) 166

9)

Question ID :- (Question ID =51792)

Question Description :- HP12_ GENERAL MATHS_SET5Q14
Question Stimulus :-

3 years ago the average age of a family of 5 members was 17 years. A baby having been
born, the average age of the family is the same today. The present age of the baby is: / 3 a¥

Ud T 5 TR URaR 3 3fd g 17 a4 A | 30 R U aeird R & &4 & IWRid
TR @} adq g 3t oft | @ | Aawid fRiy] @1 adq oy §:

e (Option ID =147030)
1 year/1 CL
e (Option ID =147031)
5 years/5 CL]
e (Option ID =147032)
2 year/2 CL
e (Option ID =147033)
3 year/3 CL
Option ID :-0Correct Answer :-(Option ID = 147032 ) 2 year/2 L]
10)
Question ID :- (Question ID = 51784 )
Question Description :- HP12_GENERAL MATHS_SET5Q6
Question Stimulus :-

If an article is sold at a gain of 6% instead of at a loss of 6%, then gift seller gets ¥6 more.
The cost price of the article is:/ gfe Th d¥d &I 6% DI BT&[ &t Gl'ﬁ&'IT 6%, dTH WX CEIRC G
fachar ®Y 26 3If® T BN | 9%g BT HT T &:

(Option ID = 146998 )

%60

(Option ID = 146999 )
%66

(Option ID = 147000 )

¥50

(Option ID = 147001 )



%36
Option ID :-0Correct Answer :-(Option ID = 147000 ) ¥50
11)
Question ID :- (Question ID = 51780 )
Question Description :- HP12_GENERAL MATHS_SET5Q2

Question Stimulus :-

What should come in place of the question mark (?) in the following questions?fﬁ'ﬁﬁ'@ﬁ
Uy § gyara® I (?) & RITH YR 47 AT A1eT?

M1+ 1M1 1M1+ 11111 =?
e (Option ID = 146982 )
1232.231
e (Option ID =146983)
1233.123
e (Option ID = 146984 )
1332.331

e (Option ID = 146985)

None of thesel%*l'ﬁ I ﬁi =|3‘T

Option ID :-0Correct Answer :-(Option ID = 146985 ) None of these/STH | ®Ig T8l
12)

Question ID :- (Question ID = 51783 )

Question Description :- HP12 GENERAL MATHS SETS5QS5

Question Stimulus :-

Passing marks in an examination is 36%. If a student gets 72 marks and fails by 18 marks,
then the maximum marks of the examination is:/[Ud® e H INuife 36% % | afe Udh faemedf
72 3% UTW Bl g 3T 18 3l A SR ¥§ TaT §, a Wlem & quiie §:

e (Option ID = 146994 )
100

e (Option ID = 146995)
200

e (Option ID = 146996 )
250

« (Option ID = 146997 )



400
Option ID :-0Correct Answer :-(Option ID = 146996 ) 250
13)
Question ID :- (Question ID = 51785)
Question Description :- HP12_GENERAL MATHS_SET5Q7
Question Stimulus :-

If the simple interest on a certain sum of money for 3 years at 5% is ¥150, then compound
interest on the same sum at same rate for same time will be: / af¢ Th e o wR 5% &t
% A 3 g BT JIYRYT TS 150 §, T THIA N TR JAF &2 A UM 0T & fore apgfs s
EﬁTIT:

e (Option ID =147002)
¥157.625
e (Option ID = 147003 )
¥158.625
e (Option ID = 147004 )
¥159.625
e (Option ID = 147005 )
¥162.025
Option ID :-0Correct Answer :-(Option ID = 147002 ) ¥157.625
14)
Question ID :- (Question ID = 51789 )
Question Description :- HP12 GENERAL MATHS SET5Q11
Question Stimulus :-

Three pipes A, B and C together can fill a cistern in 6 hours. After working together for 2
hours, C is closed. A and B fill the remaining cistern in 8 hours. The time in which the

cistern can be filled by pipe C alone will be:/ 19 UTSU A, B 3R C T®H UTH & 6 b H W b
SIS TFT Y TAI P UYTA C Pl ¢ PR AT S | AR BATUT HI 8 e H WR &l &
| UTSY C 3P, U B U H fra=r I9g am?

e (Option ID = 147018)
11 hours/11 H¢

e (Option ID = 147019 )
9 hours/9 T¢

« (Option ID = 147020 )



12 hours/12 §¢
e (Option ID = 147021)

10 hours/10 §¢
Option ID :-0Correct Answer :-(Option ID = 147020 ) 12 hours/12 e
15)
Question ID :- (Question ID =51791)
Question Description :- HP12_ GENERAL MATHS_SET5Q13
Question Stimulus :-

If a train, with a speed of 60 km/h, crossed a pole in 30 seconds, the length of the train (in

meters) is:/ f¢ TP ¢ T @ &1 60 frHl ufd ¢ Ft 71fd A 30 APHs # UR B! §, a9 37 Ft
dars (Hier H) 8t

¢ (Option ID = 147026 )
1000
e (Option ID =147027)
900
e (Option ID =147028)
750
e (Option ID =147029)
500
Option ID :-0Correct Answer :-(Option ID = 147029 ) 500
16)
Question ID :- (Question ID = 51794 )
Question Description :- HP12 GENERAL MATHS SET5Q16
Question Stimulus :-

A person had some sweets. If he distributes it among 25 children equally, then 8 sweets
remains. If there were 28 children then on distributing them equally, 22 sweets would

remain. Find the minimum number of sweets. /waq%r%?umwﬁmsﬁzﬁ mi%a's's%
25 I § SRTER HEAT | 91 df 8 TSyl Ay 8 ot 7 | 9fS 28 9= id At S8 RIaR WM H
dleq IR 22 fraT13ar 9 38 9l | feTsdl 1 gAaH HB1 J1d BIf |
« (Option ID = 147038 )
359
e (Option ID =147039)

358



e (Option ID = 147040 )
300
e (Option ID =147041)
480
Option ID :-0Correct Answer :-(Option ID = 147039 ) 358
17)
Question ID :- (Question ID =51795)
Question Description :- HP12_GENERAL MATHS_SET5Q17
Question Stimulus :-

A circus tent is cylindrical to a height of 3 metre and conical above it. If the diameter of the
base is 140 metre and the slant height of the conical portion is 80 metre, then the length of

the canvas 2 metre wide required to make the tent is:/ Th b P a3 ez ﬁTs: dob
ATTTPR g 3R SUP HUR P & ATHR HT ¢ | A MR PT ATH 140 HIeR 3R P & PR
a1 i &t fode Sa1g 80 Wiex B, a1 T &1 I & g & a1 2 e ie Fus & eaTg
Td B |

« (Option ID = 147042 )
8960 metre/8960 Wex
« (Option ID = 147043 )
9660 metre/9660 Wex
« (Option ID = 147044 )
9460 metre/9460 Wex
« (Option ID = 147045 )
9860 metre/9860 Wex
Option ID :-0Correct Answer :-(Option ID = 147044 ) 9460 metre/9460 Htex

Topic:- General Computer

1))
Question ID :- (Question ID = 51868 )
Question Description :- HP12 COMPUTER _SET5Q13

Question Stimulus :-

What is té\e main limitation of Hierarchical Databases?/ ET?RTﬁ?GIﬁ STeT o9 &1 Jad H?E'{Uf
FHI RS -

e (Option ID = 147334 )

Limited capacity (unable to hold much data)/ Hiftra swar



e (Option ID = 147335)
Limited flexibility in accessing data/ STCT d&® Tg’iﬁ 31 fifta qIHAT
e (Option ID = 147336 )
Overhead associated with maintaining indexes/ '&"%ﬂ'\q & g1y Gﬁﬁ?’%@' CARGCLI
e (Option ID = 147337 )

The performance of the database is poor/ ScTdd 1 fepar ueeq ® fiRTae

Option ID :-0Correct Answer :-(Option ID = 147335 ) Limited flexibility in accessing data/ STcT

% Uga o1 Riffa e

2)

Question ID :- (Question ID = 51867 )

Question Description :- HP12_ COMPUTER_SET5Q12

Question Stimulus :-

To protect a computer from virus, we should install:/ PR DI IRE 9 Wﬁr @+ & fag
0 U § T AR
« (Option ID = 147330)
Back wizard/ 9% fawiTS
e (Option ID =147331)
Disk Cleanup/ f&% eil3d
« (Option ID = 147332)
Antivirus/ t{é)fa'm
« (Option ID = 147333)
Disk Defragmenter/ & SR
Option ID :-0Correct Answer :-(Option ID = 147332 ) Antivirus/ Q?ﬂm
3)
Question ID :- (Question ID = 51863 )
Question Description :- HP12_ COMPUTER_SETS5QS8
Question Stimulus :-

Which of the following can not be the part of an email address?/ BEREE éﬁm Ud &1 Udh

&= 181 8 9Par?

« (Option ID = 147314)

Underscore(_)/ S8BT ()



e (Option ID =147315)
At Sign (@)/ %€ fT% (@)
e (Option ID = 147316 )
Dot (.)/ 1€ (.)
e (Option ID =147317)
Space ( )/ T ()
Option ID :-0Correct Answer :-(Option ID = 147317 ) Space ( )/ LS| ()
4)
Question ID :- (Question ID = 51861 )
Question Description :- HP12_COMPUTER_SET5Q6

Question Stimulus :-
CANCELLED
Class is/ T § -
« (Option ID = 147306 )
A template which associates code and data/ Ud T S BIS 3R ST H1 \_rﬁE?IT %
e (Option ID = 147307 )
Data-abstraction/ SICT T¢I
« (Option ID = 147308 )
Implementation of abstract data type / T{&‘I@'ﬂ? SIcl iU P RITYAT
e (Option ID = 147309 )
Object oriented/ 3Tesiae Gﬁﬁ"‘{%g
Option ID :-0Correct Answer :-(Option ID = 147309 ) Object oriented/ 3iisslge Nf¥ucs
S)
Question ID :- (Question ID = 51857 )
Question Description :- HP12_ COMPUTER_SETS5Q2
Question Stimulus :-

A communication pathway that transfer data from one point to another is called:/@® AR

AR S STeT Y TP S8 A g S1TE R $Hdl 8,98 Heardl ¢:
e (Option ID =147290)

Link/ feip



e (Option ID =147291)
Node/ IS
e (Option ID =147292)
Medium/ Hif$TH
e (Option ID = 147293)
Topology Sarareit
Option ID :-0Correct Answer :-(Option ID = 147292 ) Medium/ Hifsan
6)
Question ID :- (Question ID = 51862 )
Question Description :- HP12_ COMPUTER_SETS5Q7
Question Stimulus :-

When a page fault occurs before an executing instruction is complete than:/ EEWHW
g1 & Ugd 99 Uol Wiee SAU gIdT ¢ d4:

e (Option ID = 147310)

The instruction must be restarted/ $¥¢aRI 3a¥d J: = g
« (Option ID = 147311)

The instruction must be ignored/ EEWFI 3ARYg '&FT AR 3qreT EﬂTIT
e (Option ID = 147312)

The instruction must be completed ignoring the page fault/ EEWF[ U WIee Hi
TR 3HGTS B g [T R

e (Option ID = 147313)
None of the above/SWRIad H I Hﬁ'&‘ -'-Iﬁ

Option ID :-0Correct Answer :-(Option ID = 147310 ) The instruction must be restarted/ S¥¢a=IH
3aYY G: IRE NI

7

Question ID :- (Question ID = 51858)

Question Description :- HP12_ COMPUTER_SETS5Q3

Question Stimulus :-

What is full form of Wi-Fi?/dTs - BTS &1 YT AT &:
e (Option ID = 147294 )

Wireless Fidelity/ araRes frsferdt



e (Option ID = 147295)
Wired Fidelity/ aras fpaferdt
e (Option ID =147296)
Wireless Focus/ IRIRAYT BIHd
e (Option ID =147297)
Wired Focus/ 9198 BIHd
Option ID :-0Correct Answer :-(Option ID = 147294 ) Wireless Fidelity/ araRay fiesferdt
8)
Question ID :- (Question ID = 51866 )
Question Description :- HP12_ COMPUTER_SETS5Q11
Question Stimulus :-
Which of the following is malicious software?/ g # & P19 AR TR 82
e (Option ID = 147326)
lllegalware/ SEINTAAUR
e (Option ID = 147327)
Badware/ 9833
e (Option ID = 147328)
Malware/ A@GUR
e (Option ID =147329)
Malicious ware/ HeliRIaT 3R
Option ID :-0Correct Answer :-(Option ID = 147328 ) Malware/ AdauR
9)
Question ID :- (Question ID = 51865)
Question Description :- HP12_ COMPUTER_SETS5Q10
Question Stimulus :-
McAfee is an example of/ ABTEHT U Jglexul %
e (Option ID = 147322)
Photo Editing Software/ Biel Q‘%ﬁ'ﬁ TGy BT

« (Option ID = 147323)



Quick Heal/ f&® gia &1
e (Option ID = 147324)
Virus/ dTORY dI
e (Option ID = 147325)
Antivirus/ Q?ﬂHTEIW Gl
Option ID :-0Correct Answer :-(Option ID = 147325 ) Antivirus/ qﬂamw Cd)
10)
Question ID :- (Question ID = 51859)
Question Description :- HP12_ COMPUTER_SET5Q4
Question Stimulus :-

Banker's algo%thm for resource allocation deals with/ S&¥ ENRYA T 3iTded $ ﬁl‘l!
CXGINH

« (Option ID = 147298)
Deadlock prevention/ SSAIP U4
« (Option ID = 147299)
Deadlock avoidance/ SSdi® &raﬁgé;r
e (Option ID = 147300 )
Deadlock recovery/ SSdAl® fXpasl
« (Option ID = 147301 )
Mutual exclusion/ R3¢ TRIGRAA
Option ID :-0Correct Answer :-(Option ID = 147299 ) Deadlock avoidance/ SSAl® GITﬁE%'\‘T
11)
Question ID :- (Question ID = 51860 )
Question Description :- HP12_COMPUTER_SETS5Q5
Question Stimulus :-
CANCELLED

Which of the following is not a type of computer network?/ R Ean] PR Acdd &I
Yo 81 o-
e (Option ID = 147302)

Local Area Network (LAN)/ @&d TRl Aead (LAN)

https://www.freshersnow.com/previous-year-question-papers/



« (Option ID = 147303 )
Personal Area Network (PAN)THT TRAT Aead (PAN)
« (Option ID = 147304 )
Remote Area network (RAM)/ e Ti¥ar Aead (RAN)
« (Option ID = 147305 )

Metropolitan Area network (MAN)/AEIUifere TRAT Aead (MAN)

Option ID :-0Correct Answer :-(Option ID = 147304 ) Remote Area network (RAM)/ e Q'RTIT

Acad (RAN)
12)
Question ID :- (Question ID = 51856 )
Question Description :- HP12_ COMPUTER_SETSQ1
Question Stimulus :-
WWW stand for-/ WWW %
e (Option ID =147286)
Word Wide Web / 98 915 a9
e (Option ID = 147287)
World With Web / 9% fag a9
e (Option ID =147288)
World Wide Web / 9¢S dISS a9
e (Option ID =147289)
Word With Web / 8 fag a9
Option ID :-0Correct Answer :-(Option ID = 147288 ) World Wide Web / CIG) qigs a9
13)
Question ID :- (Question ID = 51870 )
Question Description :- HP12 COMPUTER_SET5Q15
Question Stimulus :-
What is the full form of URL?/9,3(R.Td. HT YRT ATH T 872
e (Option ID = 147342)
Unicode research locator/ qﬁaﬁg o didbex

« (Option ID = 147343)



Uniform read locator/ Tjﬁ'ﬂ?‘lﬁ s dider
e (Option ID = 147344 )

United research locator/ T-I'IE%G’ frad drdrex
e (Option ID = 147345)

Uniform resource locator/ ?Iﬁ'qv‘lﬁ et didex

Option ID :-0Correct Answer :-(Option ID = 147345 ) Uniform resource locator/ T feas

dAbex

14)
Question ID :- (Question ID = 51864 )
Question Description :- HP12 COMPUTER _SET5Q9
Question Stimulus :-
Full Form of NIC?/ Qqaﬂfﬁ ST QT ATH %:
e (Option ID = 147318)
New Internet Connection/ Tq\ﬁﬁf PARM
e (Option ID = 147319)
Network Interface Card/ Acdd EETW IS
e (Option ID = 147320 )
New Internal Command/ =g $¢3-1d hHIS
e (Option ID = 147321)

None of the above/ IURIad H | Hﬁ'&‘ el

Option ID :-0Correct Answer :-(Option ID = 147319 ) Network Interface Card/ S EETa’_\‘T IS
15)

Question ID :- (Question ID = 51869 )

Question Description :- HP12_ COMPUTER_SET5Q14

Question Stimulus :-

Which component of the database management system (DBMS) most affects the ability to
handle large problems (scalability)?/ SEE K SieTAT &1 P 9T ga n‘e:alpf Ued, ol
TSI THET BI JPUTE B & 3T 82

« (Option ID = 147338)
Data Storage Subsystem /STeT WIS Ja4H

« (Option ID = 147339)



Database Engine/ sered EﬁF-[
e (Option ID =147340)
Query Processor/ #31 TR
« (Option ID = 147341)
Security Subsystem/ Rraaifydt gafRren
Option ID :-0Correct Answer :-(Option ID = 147339 ) Database Engine/ SeTa¥ §for

Topic:- General Aptitude
1))

Question ID :- (Question ID = 51940 )

Question Description :- HP12_GENERAL APTITUDE_SETS5Q2

Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements. rﬁ%qr ﬁ%ﬁqwmﬁwmmeﬁvw%m

e g 13Uy feu e A Y=Y &) I AT R ﬁﬁ%ﬂﬂﬁma@ﬁﬁmmﬁﬁa |
qﬁﬁwﬁﬁmﬁwmaﬁﬁq%ﬁqwﬁwﬁﬁﬁﬁﬂmmwﬁmm
2, U gdga o gl |

Statements:/®Y:
All fruits are lions. A4t hd, W % |
All lions are foxes.[a¥} ﬁ?, Fﬁ'ﬂ%‘lﬁ% |
Some foxes are elephants./[®® Fﬁ'ﬂ'ﬁﬂﬁ: ETQﬁ % |
Conclusions:/ f s :
I. All fruits are foxes. A} hd, Fﬁ'q'%'lﬁ% |
Il. Some fruits are elephants./®® W, BT?ﬁ % |
« (Option ID = 147622 )
If only Conclusion | foIIowsIEIﬁ Fad frspd | ST BT %
« (Option ID = 147623 )
If only Conclusion Il foIIowsRT% Fad ey 11 ST BT %
« (Option ID = 147624 )
If neither Conclusion I nor Il foIIowsRTﬁT-lﬁWEf 1< Glﬂ'\‘:lTUTWT%

e (Option ID = 147625)



If both Conclusions | and Il follow/afe g fArswd SrIaRUT Fd §

Option ID :-0Correct Answer :-(Option ID = 147622 ) If only Conclusion | follows/Afq Fad
e | srgERUT HRaT

2)
Question ID :- (Question ID = 51941 )
Question Description :- HP12 GENERAL APTITUDE_SETS5Q3

Question Stimulus :-

What will come in place of question (?) mark in the following series?/f=T 9oft & yRHaRIS
g (?) & RIF TR T 3MT?

WFB, TGD, QHG, ?
e (Option ID = 147626)
NIJ
e (Option ID = 147627)
NIK
e (Option ID =147628)
NJK
e (Option ID = 147629 )
OIK
Option ID :-0Correct Answer :-(Option ID = 147627 ) NIK
3)
Question ID :- (Question ID = 51955 )
Question Description :- HP12_GENERAL APTITUDE_SET5Q17
Question Stimulus :-

In a row Satish is 10th from the right end and 20th from the left end. How many persons are

there in the row? / T UfRI &, TN ST BR A 103 WA R T MR TTBR A 208 MR |
tfea o foram aafea 82
« (Option ID = 147682 )
30
« (Option ID = 147683 )
32
« (Option ID = 147684 )

31



e (Option ID = 147685)
29
Option ID :-0Correct Answer :-(Option ID = 147685 ) 29
4)
Question ID :- (Question ID = 51949 )
Question Description :- HP12_GENERAL APTITUDE_SET5Q11
Question Stimulus :-

One morning after sunrise, Vikram and Shailaish were standing in a park with their backs
towards each other. Vikram's shadow fell exactly towards his left. Which direction was

Shailaish facing?/U® a8 Jaied & UgTd, fashd 3R v T ST § TF g o1 3R s
P3P WS g ¥ | fard o W VA & St a1 3R 99 T8t A | Adv &1 g fry fewm o
q1?

e (Option ID = 147658 )
Eastfqﬁ

e (Option ID = 147659 )
South/gfaror

e (Option ID = 147660 )
North/3vR

e (Option ID = 147661 )

Data Inadequate/ Gﬁﬁ 3rugfe

Option ID :-0Correct Answer :-(Option ID = 147660 ) North/3IX
S)

Question ID :- (Question ID =51952)

Question Description :- HP12_GENERAL APTITUDE_SET5Q14
Question Stimulus :-

Five boys A4, Ay, A3, Ay, As, are sitting on the ladder in this way Ag is above A4. A3z under
Ag, A; under Aq and A4 above A3. Who sits at the bottom?/dTa asﬁ? A1, A2, A3, Ag, A51 T
W W ST UPR IS T, A5, A, P IW T, Az, Ag, A B, Ag, A & I B 3R Ag, A3 F HW
81 9a9 i A 98187

e (Option ID =147670)
A1

« (Option ID = 147671)



A3
e (Option ID =147672)
As
e (Option ID =147673)
Az
Option ID :-0Correct Answer :-(Option ID = 147671 ) A3
6)
Question ID :- (Question ID =51947)
Question Description :- HP12_ GENERAL APTITUDE_SETS5Q9
Question Stimulus :-

DIRECTIONS: Arrange the following words according to the English chtlonaryfﬁai'd 3Toit
VP F AR, - Tregf F srafRyd +3:

(a) Particle (b) Pardon (c) Parchment (d) Parliament (e) Party
« (Option ID = 147650 )
(b), (d), (a), (c), (e)
e (Option ID = 147651 )
(c), (b), (d), (a), (e)
« (Option ID = 147652 )
(c), (d), (b), (e), (a)
« (Option ID = 147653 )
(b), (c), (d), (a), (e)
Option ID :-0Correct Answer :-(Option ID = 147651 ) (c), (b), (d), (a), (e)
7)
Question ID :- (Question ID = 51951)
Question Description :- HP12_ GENERAL APTITUDE_SET5Q13

Question Stimulus :-

If the 24th of August in a year is Wednesday, the number of Mondays in that month is/ gfe
TP ¥ o 24 3G B FUAR TS a1 S A4 A fva Tiwar giie?

« (Option ID = 147666 )
3

e (Option ID = 147667 )



4
e (Option ID = 147668 )
5
e (Option ID = 147669 )
6
Option ID :-0Correct Answer :-(Option ID = 147668 ) 5
8)
Question ID :- (Question ID = 51946 )
Question Description :- HP12_ GENERAL APTITUDE_SET5QS8
Question Stimulus :-

Lucky said while looking at a photograph, “The lady is the wife of the only grandson of my
mother”. If Lucky is the only son of his parents, what is the relation of Lucky with the lady

in the photograph?/ @&} T® BTAIRIA B WS Hedl ¢, “ I8 AigdT AN Al & gPHald Uid i
ufer 871 afe a@t 3= Ai-aTY &7 3bal T 8, df dd! &1 39 SR arell Afgdr S w1 Ty

82
e (Option ID = 147646 )
Son/qA
e (Option ID = 147647 )
Father-in-law/A{x
e (Option ID = 147648 )
Grand Father/calal
e (Option ID = 147649 )
Husband/afd
Option ID :-0Correct Answer :-(Option ID = 147647 ) Father-in-law/dJX
9)
Question ID :- (Question ID = 51954 )
Question Description :- HP12_GENERAL APTITUDE_SET5Q16
Question Stimulus :-
DIRECTIONS: In the question, relationship between different elements is shown in the Statements.
These Statements are followed by two Conclusions. Read the conclusions based on the statements
carefully and choose the certain answer from the given options.lﬁﬁfﬂ: :ﬂ%ﬁ'ETI'QWH ﬁ, FYAI A PO

3quql $ T A T WY ML @ | HYAT & 916 Frepy feg e & | Sy wR snurfyd el &1
ATy ufeu 3R fod M # | us fAfya SwR &1 9ua Fifve |

Statements:[HY-:



A<L,A>M,M>P,P>0
Conclusions:/frsw:
I. O<M
II. O<A
e (Option ID =147678)
If only Conclusion | foIIowsR:Iﬁ Had frspd | ST HIdT %
e (Option ID =147679)
If only Conclusion Il foIIowsfqﬁ Had e 11 ST HIdl %
e (Option ID = 147680 )
If either Conclusion | or Il foIIowsI'CIﬁ' gral st 1arn ST pIdT %
« (Option ID = 147681 )

If both Conclusions | and Il follow/afe 1 fspy SFERUT HXd &

Option ID :-0Correct Answer :-(Option ID = 147681 ) If both Conclusions | and Il follow/af¢ gl

frepd R ea

10)

Question ID :- (Question ID = 51944 )

Question Description :- HP12_GENERAL APTITUDE_SET5Q6
Question Stimulus :-

In a certain code JOINTLY is written as IPHOSMX. How is SERMON written in that code?/
ot fif3a o ® "JOINTLY' Ft IPHOSMX' foraT SITaT 8 1 St e H SERMON &1 fh g YR
ford?

(Option ID = 147638 )

RFQNNO

(Option ID = 147639 )
TFSNPO

(Option ID = 147640 )

TDQLNM

(Option ID = 147641 )
RFQNMP
Option ID :-0Correct Answer :-(Option ID = 147638 ) RFQNNO

11)



Question ID :- (Question ID =51939)

Question Description :- HP12_GENERAL APTITUDE_SET5Q1

Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./fIGT: ﬁ%mwmﬁwﬁmaﬁ?wﬁsmwﬁﬁmﬁﬁq
M § | 3TUH AT U i1 SU=T B I 9141 & HA €1 3 Jd3rd a2t 9 f=1 udia gl 8f |
Tt frewut o1 ufew fbe au Fifore % e e fFrepul A F i J1 THETd 3U A SgHR0T Hdl
2, 9T gayd a $o W El |

Statements:/®Y:
Some bulbs are canes./[®® ded, T
Some canes are books.[PS® %{, fpard % [
All books are lanterns./ A4} ﬁo_clﬁ, Fﬂ?l%:l% |
Conclusions:/fsH:
I. Some lanterns are canes./[P® FI'IFI%T-[, GoT| % |
Il. Some lanterns are bulbs./$®® dreeH, T T |
« (Option ID = 147618 )
If only Conclusion | foIIowsRT% Had ey | ST BT %
« (Option ID = 147619 )
If only Conclusion Il foIIowsRTﬁ' Fad e 11 ST BT %
e (Option ID = 147620 )
If neither Conclusion I nor Il foIIowsRﬂ%:IﬁW'ﬂf 1< GENTUTWT%
e (Option ID = 147621 )
If both Conclusions | and Il follow/afe & fAsatd GHHTUTW%

Option ID :-0Correct Answer :-(Option ID = 147618 ) If only Conclusion | follows/afe Had
ey | IRV HRaT 3

12)
Question ID :- (Question ID =51950)
Question Description :- HP12_GENERAL APTITUDE_SET5Q12

Question Stimulus :-

At what time between 5’0 clock and 6’ O clock will the hand of the clock be together?/ 5 ol

¥ 6 T & U US! BT Y4l (g IHY TH 1Y Fiif?



Option ID :-0Correct Answer :-(Option ID = 147665 ) None of theselg_'ﬂ?f I ﬁi qﬁ

13)

(Option ID = 147662 )

5

5
2711 minutes past 1/ 1 dofh 2711 e w

(Option ID = 147663 )

3 3

2711 minutes past 1/ 1 ToHY 271 fiFe W

(Option ID = 147664 )

4

2
2711 minutes past 1/ 1 oI®R 2711 AT W

(Option ID = 147665 )

None of thesel%?ﬁ I aﬁ% i

Question ID :- (Question ID = 51942 )

Question Description :- HP12_ GENERAL APTITUDE_SET5Q4

Question Stimulus :-

DIRECTIONS: These questions are based on continuous alphabet type, a letter series is
given which has some blanks, find the alternatives that complete the series.

%&Ravﬁﬁ War&wtjwr%vﬁﬁﬁﬁqwﬁwﬁm%mﬁ% mﬁﬁmaﬂw
|

a-b--ab-aa-c

Option ID :-0Correct Answer :-(Option ID = 147632 ) acacb

14)

(Option ID = 147630 )
abbca
(Option ID = 147631 )
abbbc
(Option ID = 147632)
acacb
(Option ID = 147633 )

cacba

Question ID :- (Question ID = 51945)

Question Description :- HP12_GENERAL APTITUDE_SET5Q7



Question Stimulus :-

DIRECTIONS: In each of the following questions, choose the set of numbers out of the four

options that is similar to the given set. fﬁ%ﬂ: ﬁqwmmﬂmﬁm’fﬁ'ﬁw
T3 & FYE BT 99 D ol fT 7T TYg & JHH & |

(49, 81, 25)
e (Option ID = 147642 )
(25, 45, 27)
« (Option ID = 147643 )
(22, 37, 41)
e (Option ID = 147644 )
(17,12, 9)
e (Option ID = 147645 )
(100, 289, 4)
Option ID :-0Correct Answer :-(Option ID = 147645 ) (100, 289, 4)
15)
Question ID :- (Question ID = 51943 )
Question Description :- HP12_ GENERAL APTITUDE_SET5Q5

Question Stimulus :-

How many squares are there in the given figure?Rﬁ 11€ GI'@ﬁ A fraq aﬁ%?

H

(Option ID = 147634 )
7

(Option ID = 147635 )

12

(Option ID = 147636 )

10

(Option ID = 147637 )
8
Option ID :-0Correct Answer :-(Option ID = 147636 ) 10

16)



Question ID :- (Question ID = 51948 )
Question Description :- HP12_GENERAL APTITUDE_SET5Q10
Question Stimulus :-

Roy walks 2 km to East, then turns North-West and walks 3 km. Then he turns South and
walks 5 km. Then again he turns West and walks 2 km. FlnaIIy he turns North and walks 6

km. In which direction, is he from the starting point?RTd 2 %ﬁqﬁaﬁaﬁ?m% i IR-
trf%nﬁgs@rm%aﬁw%d’rm%lﬁﬂa’f&maﬁam 5 fpH} Terar 8 | Sida: 98
I P 3R GS-3H< 6 it gaar |agamﬁuvfﬁl$wmﬁmﬁ'mﬁ% |

e (Option ID =147654)
South-West/gf&ror-uf3s
e (Option ID =147655)
South-EastlE'@fUT-qﬁ
e (Option ID = 147656 )
North-West/3TR-Uf3d
e (Option ID =147657)
North-EastIBTﬂ-‘Ff
Option ID :-0Correct Answer :-(Option ID = 147656 ) North-West/STR-Uf3¥
17)
Question ID :- (Question ID = 51953 )
Question Description :- HP12_GENERAL APTITUDE_SETS5Q15
Question Stimulus :-

A cube of side 3 cm is coloured on all the faces. It is then cut into 27 pieces of equal size.
How many of the smaller cubes will have no faces painted? / & 3 T+ HoIT & g9 &1 g
HAD! U= T T | fihR 39 U SMPR & 27 cHS| | PIel 14T | Bie ¥4 § J fovaq w1 &1
o5 Wt wa® W g a1 gRn?

e (Option ID = 147674 )
8

e (Option ID =147675)
1

e (Option ID =147676)
4

e (Option ID =147677)

6



Option ID :-0Correct Answer :-(Option ID = 147675 ) 1



